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fknee=0.01Hz sigma=50ults, spin=0.3rpm, w/o HWP, ..k LB simulation
basic method, 0.75 years. red: lensing

g

3
o

Dell uK2

2
10 10 2
ell 1 10 10 ell

alpha=5, beta=90 alpha=25, beta=70

fknee=0.01Hz

2015/9/25

10

10 1

10

1

10

10 ]

o 10 g 102
3 E]
= 10° = 101
Q
=} a
10 10
1 1
4 ,
10 10
10 ] 10 ]
10] 10
-4
10 10
10 10
y .
5 10 2 10 2
10 10 ol 1 10 10 ell 1 10 10 ell

alpha=45, beta=50 alpha=65, beta=30 alpha=85, beta=10

Mollweide view Mollweide view




1/f

fknee=0.1Hz sigma=50ults, spin=0.3rpm, w/o HWP, basic method
0.75 years.

red: lensing
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fknee=0.1Hz sigma=50ulds, spin=0.1rpm, w/ HWP, hybrid method
0.75 years.
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Basic method w/o HWP
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Hybrid method w/ HWP
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When we set A¢ = 7/4, we would obtain maximal sensitivity on the polarization measurements.
Since the number M is the number of pairs to differentiate, the total number of measurements
2M + N, consistent with the error estimation in the basic method (method 1). The factor
sin? 2A¢ is understood if we consider no rotation of the HWP that generates no polarization
>omadulation and therefore gives no measurements on ( and U.
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Hybrid method w/ HWP

reproducibility of the CMB signal uK

! calculated- generated.



